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PART — A
(Compulsory Question)
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1 Answer the following: (10 X 02 = 20 Marks)

(@) Why the transformer core is laminated?

(b) Define all day efficiency of a transformer.

() What is the main purpose for conducting short circuit test on a 1-® transformer?

(d) Give any two comparisons of Two-winding transformer with Auto transformer.

(e) Draw the Phasor diagram of Y-A connected three-phase transformer.

(f) Define slip of Induction motor.

(g) Give the expression for starting torque of an induction motor.

(h) Define Crawling phenomena referred to Induction motor.

() Draw the Stator resistor/reactor starter diagram of Induction motor.

() Mention any two speed control methods from stator side of Induction motor.

PART - B
(Answer all five units, 5 X 10 = 50 Marks)

2 (a) Derive the e.m.f equation of the transformer
(b) The No-Load current of a 4400/440 V, 1-®, 50 Hz transformer is 0.04 A. It consumes power 80 W at no-
load when supply is given to LV side and HV side is kept open. Calculate the following: (i) Power factor
of no-load current. (ii) Iron loss component of current. (iii) Magnetizing component of current.
OR
3 (a) Draw the Exact and approximate equivalent circuits of 1-® transformer and explain.
(b) Explain in detail about the different types of losses that occur in transformers.

4 (a) With neat circuit diagram, explain how the efficiency can be predetermined by conducting Sumpner’'s
test on transformers.
(b) A 1-®200/400V, 6 KVA, 50 Hz transformer gives the following test results:
OC test on LV side: 200V, 0.8 A, 80 W
SC test on HV side: 25V, 10 A, 90 W.
Determine the circuit constants referred to as LV side.
OR
5 (a) Describe the Parallel operation of transformers with equal voltage ratios.
(b) A 1-®, 2400/240 V, 120 KVA two-winding transformer is connected as an Auto transformer with additive
and subtractive polarity. Determine the KVA rating of the Auto Transformer in both the cases?

6 (a) Explain aboutthe A- A & open- A connections of transformers.
(b) Explain about Scott connection of transformers. Also draw the phasor diagram.
OR
7 (a) With the help of neat diagrams, explain constructional details of cage and wound rotor Induction Motor.
(b) The rotor e.m.f (between slip rings) of a 3-® induction motor having star-connected rotor at standstill is
60 V. the rotor resistance and the standstill reactance are 0.6 Q and 4 Q respectively. Determine: ®
Rotor current/phase at starting when the slip rings are short-circuited. (ii) Rotor current/phase if a star-

connected rheostat of We ] (H [hﬁe@MnFc‘epec.roE mﬁp rings.
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